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Al i i are
Figures to the right indicste full marks,
For @ No. 4(A) use supplied outline map of India and tie it
to your answerbook,

For @. No. 6(A) use the graph paper supplied to you and attach
it to the main answer-book.

Use of steneil is allowed for drawing map.

Draw neat disgrams and sketches wherever necessary.
Answers should be written in Black or Blue ink anly,

Pencil and Colour Pencil con bo used for ﬁ.m skeiches
#raphs and map work. .
Answers written in pencil will not be considerea.

: PTO.
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4
Choase the correct alternatives and complet®

(he semtences <

(1) The Lakshadweep islands of Arabian Sea are .-

@ Made from the part separaind from the malaiend
@) Coral islands

(i) Volcanic islands

) Continental islands

(2)  Brazil is the ...
‘continent

@ Less

) Medium
(i) Very less
(w) Very high

. populated country in the South American

)
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Match the columns * ;
Column ‘B

Column ‘A’

Teak
(1) Trans-Amazonian Highway (a) e
Football
@ Thomy and bush-iype vegetation (B Foo
() Major Highways

@  Plain region

) Popular game of Brazil «)  Khejadi
@  Punjab
(@ Cricket

Write short notes (any fwe) :

(1) Items to be carried for a field visit

(@) The coasts of Brasil

@) Mining in Indin

(A) Mark the following in the outline map of India. Write

the names and give index (any four) : .

(1) Union territory — Daman

(2)  Heavy rainfall rogion to the wost coast

@ * Cold desert

(#)  Region to the north having high donsity of population
(5) Kanyakumari

6 Chilka lake
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m ;
Observe the map of Brasil and answer the following question

(any four) :

Questions : |
0 ich is the major river in Brazil ?
(2  Name the important island in Brazil,

3
“
5

Towards which direction does Uruguay river flow ?
Sao Francisco river terminates into which Ocean ?
Name any one river meeting the North Atlantic Ocean,
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5  Give geographical reasons (any f190) 3
() In Brasi, majority of population is fyund in the e8StEEE noRsAlpress:
@  Eco-tourism is being developed more in Brazil.
(3  Vegetation is searce in the high altitudes of Himalayas.

) India receives precipitation from the North-Enst monsoon wing $00.

& (M) With the help of given statistical data, prepare a simple ba

graph and answer the following questions : 6

Life Expectancy — India
Years Life Expectaney
1980 54
1990 58
2000 63,

2010 67

2018 68

In the year 1990 what is the average life expectancy ?
hwnkhmdudu,lheuvnﬂplhwhmw
be similar increase ? b 4
mmﬁwunhﬂﬂiﬂhmuﬂmmlm
to 2016 ?

PTQ,
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